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MTH 248 Sec 2 Quiz 4 March 10, 2005

Ezplain all answers. Show all steps.

1 (a)' Let z = f(z,v), ¢ = g(t,s), y = h(t,s). Write the formula for %

P= 9z D% Pz 2y
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(b) Let z=z?y+3y® Let z = g(t), y = h(t). Assume that g(2) = —1, h(2) = 3, ¢'(2) = 0.3,

., 02
h'(2) = —1.2. Find EltZQ'
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3. Let f(z,y) = «® + y® — 6y*> — 3z. Find all critical points of f and classify them as local
minima, local maxima or saddle points.
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MTH 243 Sec 8 Quiz 4 March 10, 2005

FEzplain all answers. Show all steps.

1. (a) Letz=f(z,y), z=g(t s), y = h(t, s). Write the formula for %ﬁ

(b) Let z = z?y+3y® Let z = g(t), y = h(t). Assume that g(1) =2, h(1) =3, ¢'(1) = —0.3
W(1) =12, Find £,y
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3. Let f(z,y) = z® +y> — 6y* — 3z + 9. Find all critical points of f and classify them as local
minima, local maxima or saddle points.
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